PROBLEMAS DE TRIGONOMETRIA

Problema 186:

Simplificar la expresion siguiente:
(cotga—tg a).[tg(452+ a) —tg(45° — a)]

Solucion Problema 186:

cosa sena [ tg45%+tga tg45%2—tga ]

(cotga—tga).ltg(45%+a) = tg(5® —a)l = o = e [T=tga59 - tga 1+tg45°-tga

cos’a— sen’a [1+tga 1—tga] cos’a— sen’a [(1+tga)’—(1-tga)?]|

sena-cosa _1—tga_1+tga ~ sena-cosa 1— tg?a

cos’a— sen’a [1+ tg°a+2tga—(1+ tg*a—2tga)|
sena-cosa | 1— tg?a B

_ cos’a— sen’a [1+ tg’a+2tga—1- tg*a+2tga)] cos’a— sen’a [ 4tga ] B

sena-cosa | 1— tg?a sena-cosa 1— tg?a
2 - (cos?a— sen’a) 2-2-tga 2cos2a 2-cos2a sen 2a

= : = -2-tg2a=——F—-2- =2-2=4
2-sena-cosa 1— tg?a sen2a sen 2a cos 2a
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